Chapter 7 & 8 Review - SOLUTIONS
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5ad3 = 2405
N5
54— A2

2
x=39
x=31,x=-23

FAx) = B35(1.07)%; 1343 armadillos

¥ = 625
y =TI
75% increase
130% increase
30% decrease

y = 801(%)t/52; 701.039 kg
y = 3(%)"“/12 : 0.446 kg

$1,847.81
$1,359.53
$1508.12
$474.38
$523.26

about 6927 times as much energy

asymptote: y =0
domain: [—m, mj or all real #s

range: (EI, mj ory>0
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asymptote: y =0
domain: (—m, mj or all real #s
range: ICEI, mj ory>0
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asymptote: y =0
domain: (—CD, mj or all real #s
range: I:EI, mj ory>0
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y

asymptote: y=0
domain: (—m, mj or all real #s

range: I:El, mj ory>0
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asymptote: y = 1
domain: [—m, mj or all real #s

range: (l,mj ory>1

asymptote: y =2
domain: [—m, mj or all real #s

range: (2, m:l ory>?2



